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! for Exs. 3-15 | i
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s ;;l:: ":h VERTEX FORM Write a quadratic function in vertex form who
, § the given vertex and passes through the given point. >
8. vertex: (5, —4)

[

| 6. ;zf::ix( 545)1) 7. vertex: (1, 6)
| ! £(-2, point: (-1, 2) point: (]
. vertex: (-3, -
o (l(, _1)3) 10. vertex: (5, 0) 1 N
point: (2, ~27) © Yerex: (—4, —)
point: (0, 30)
14. vertex: (3, 5)

13. vertex: (-1, —4)
point: (2, —1)

12. vertex: ()
point: (4, -2)
point: (7, -3,
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WRITING IN INTERCEPT FORM v
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ose graph has the gj : Quadrat i
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€ given point.

20. x-intercepts: 2, 5 21 .
’ x'lmercepts: =3,0

oint: (4, -2 ;
p _ ) Point: (2, 10) 22. x-intercepts: —1, 4
23, x-intercepts: 3, 7 24. 1 point: (2, 4)
int: (6, — * itercepts: —5, — :
point 3, ~5) Point: (_gtiz‘ns’ 1 25, X-intercepts: —6, 3
) point: (0, —9)

ERROR ANALYSIS Describe and
whose graph has the given x-in

point.
26. x-intercepts: 4, —3; point: (5, —=5)

Correct i i
terceptst:: EIror in writing a quadratic function
vertex and passes through the given

27. vertex: (2, 3); point: (1, 5)

y=a(x = 5)(x + 5)
oy | Tamen
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WRITING IN STANDARD FORM Write a qu i
ad ion i
hie parsbola show. q ratic function in standard form for

28. 29,

WRITING IN STANDARD FORM Write a quadratic function in standard form for
the parabola that passes through the given points.
32. (-2,-4),(0,-10), 3, -7)  33. (-2,4),(0,5), (1, -11)

@ (_]-r 9)! (1, 1)7 (3) ]-7) 36. (_6! _1)! (‘_3:‘ _4)1 (3) 8)
38. (-6,29),(—4,12),(2,-3) 39. (-3, -2), (3, 10), (6, —2)

31. (-4,-3),(0,-2),(1,7)
34. (-1, -1),(1,11), (3, 7)
37. (-2, -13), (2, 3), (4, 5)

WRITING QUADRATIC FUNCTIONS Write a quadratic function whose graph has

the given characteristics.
42, vertex: (4.5, 7.25)

41. x-intercepts: —11,3
passes through: (7, —3)

40. passes through:
passes through: (1, —192)

(=0.5, -1), (2, 8), (11, 25)

43. % OPEN-ENDED MATH Draw a parabola that passes through (-2, 3). Write a
function for the parabola in standard form, intercept form, and vertex form.

44. * SHORT RESPONSE Suppose you are given a set of data pairs (x, y) .lI_'ziei)cribe
how you can use ratios to determine whether the data can be modeled by a
quadratic function of the form y = ax=.

. = bx + ¢ whose graph passes

45, CH i tion of the formy ax* +
thrgt;iﬂ(?_fz)n?fgfuflcs) and (7, 14). Explain what the model tells you about

the points,




"PROBLEM SOLVING

: EXAMPLES ; 46. ANTENNA DISH Three points on t'he parabola formed by | 4\y; 0
:1and3 ‘ the cross section of an antenna dish are (0, 4), (2, 3.25), HEENNN
6;1..':-’5_-55_&;_'_'3'?6'; and (5, 3.0625). Write a quadratic function that models - \_‘\‘_/
: for Exs. 46-47 | the cross section. iT T

r @HomeTutor = for problem solving help at classzone.com : N

. FOOTBALL Two points on the parabolic path of a kicked football are (0, 0)
and the vertex (20, 15). Write a quadratic function that models the path.

’ @HomeTutor  for problem solving help at dlasszone.com

MULTI-STEP PROBLEM The bar graph shows the Yearly ‘I'Imem

i onp.311 average number of hours per person per year spent = x"‘*&[
! for Exs. 48-50 a on the Internet in the United States for the years | \\ﬁ
? 1997-2001.

| a. Use a graphing calculator to create a scatter plot.

1' b. Use the quadratic regression feature of the

' calculator to find the best-fitting quadratic

f model for the data.

¢. Use your model from part (b) to predict the 0
average number of hours a person will spend on 1997 1988 1999 2000 o,
the Internet in 2010.

RUNNING The table shows how wind affects a runner’s performance

' in the 200 meter dash. Positive wind speeds correspond to tailwinds,
and negative wind speeds correspond to headwinds. The change ¢ in

| finishing time is the difference beween the runner’s time when

' the wind speed is s and the runner’s time when there is no wind.

: EXAMPLE4 | 48.
|
|

100

Hours per person

| 1l Wind speed (m/sec).s -6 | -4 =2 0 2 -

| l SRR SN S P (I A S

\ Changelnﬁnishi

| { time (sec), t " 228 | 142 067 0 @ -057 -105 -142

| a. Use a graphing calculator to find the best-fitting quadratic model.
‘ b. Predict the change in finishing time when the wind speed is 10 m/sec

50. @ MULTIPLE REPRESENTATIONS The table shows the number of U.S.
households (in millions) with color televisions from 1970 through 2000.

! . o I = R

| Vearssince1970 | 0 | 5 | 10 | 15 20 25 30

| Households with A ‘ |
color TVs (millions) 21 47 | 63 = 78 90 ' 94 101

’ a. Drawir_ng a Graph Make a scatter plot of the data. Draw the parabola that
. you think best fits the data.

b. Writing a Function Estimate the coordinates of three points on the
1 parabola. Use the points to write a quadratic function for the data.

¢. Making a Tab{e Use your function from part (b) to make a table of data
| for the years l_isted in the original table above. Compare the numbers of
| households given by your function with the numbers in the original table.

O= WORKED-OUT SOLUTIONS * = STANDARDIZED € = MULTIPLE on
p TEST PRACTICE REPRESENTA
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it Viaduct in France has a parabolic arch as \ A
‘l \ \

_— :
By ! art of its support. Th 5
N 8 ‘ {)0, 0), (40, 38].)2%. and (lrgse.%(),l\fvl;fe?n the parabola that models the arch are RRARNY
b i point is also on the parabola? e x and y are measured in meters. Which \ H
1 | | ‘
@® (0,-11.80) @& (267 i
4,25) @© (80,51.95) @ (125,45) H
1R
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[ 53. Charli(re.rec;:ivgs some money for his birthday. He deposits one third of the ‘
money in the bank. He purchases a concert ticket for $45. Then he spends half | 1}
1.11}%

i
| of the remaining money on dinner. Charli
k did he receive for his birthday? arlie has $8.50 left. How much mones TR EAN
i \
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- 54. Which equation represents a line that is parallel to the line th HALER
| ’ through (-4, 9) and (5, —3)? p e line that passes \‘ l | l&
| \ \
| @ -y 2x+3y=9 \‘\-L “.“
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mula to solve the equation. (p. 292) |

' Use the quadratic for
3. 32 +5x+4=0

| L gttt 2, 22 —-8x+1=0

i Graph the inequality- {p- 300)
6. y2 x> +2x+3 \J

4 y<-30 5, y>—x +2x

Solve the inequality. (p. 300) \R‘

L 7.024+5 8. 1262 -7x 9, 2x2+2>—5x \
W
‘I \

se graph has the given characteristics. (p- 309) i\

Write a quadratic function who
12. passes through:

10. vertex: (5, 7) 11. x-intercepts: -3,5
passes through: (3,11) passes through: (7, —40) (-1,2), (4, —23), (2, -7
1l into the air with an initial vertical

he ball hit the ground. The ball

13. SPORTS A person throwsa baseba
gis the ball in the air? (p. 292)

velocity of 30 feet per second and thenletst
is released 5 feet above the ground. How lon
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